2022F T = RO—rFHIRR

H Sif F A R’Y FIFAEHE | &=

RIETC 6:30 8:30 1

2(%) AL 9:00 12:00 2
RIETC 12:00 16:00 2 EET A
RIETC 6:30 8:30 1

3(8) JEIETC 8:30 10:30 1
By 13:00 16:00 2

4(R) RTC 9:00 11:00 2

1(XK) RTC 9:00 11:00 2

9(+) E}\ETC 6:30 8:30 1 _
RETC 9:00 10:00 1 FAEA
RIETC 6:30 8:30 1

10(8) RIETC 8:30 10:30 1

11(A) | RTC 9:00 11:00 2

14(K) | RTC 9:00 11:00 2

16(x) | RETC 6:30 8:30 1
RETC 6:30 8:30 1

17(8) | EIETC 8:30 10:30 1
RETC 11:00 15:00 3 EESA

18(A) | RTC 9:00 11:00 2

21(KR) | RTC 9:00 11:00 2

23(L£) | RETC 6:30 8:30 1
RIRETC 6:30 8:30 1

24(R) RIRETC 9:30 13:30 3

25(A) | RTC 9:00 11:00 2

28(K) | RTC 9:00 11:00 2
RETC 6:30 8:30 1

29 () il es 9:00 12:00 3
RETC 6:30 8:30 1

30() il es 8:30 12:30 3
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= &4 Eapi RTY | FEERH| m=
EETC 6:30 8:30 1
1(8) RIRTC 8:30 10:30 1
F£ETC 11:00 14:00 1 EMEA
2(R) RTC 9:00 11:00 2
3 () £ETC 6:30 8:30 1
£ETC 6:30 8:30 1
YO0 e 9:00 | 12:00 3
£ETC 6:30 8:30 1
5(R) RTC 9:00 11:00 2
£ETC 6:30 8:30 1
T(+) i ldae 9:00 12:00 3
R£ETC 6:30 8:30 1
8(H) FIRTC 8:30 10:30 1
9(R) RTC 9:00 11:00 2
12 (AR) RTC 9:00 11:00 2
R£ETC 6:30 8:30 1
14(x) il 9:00 12:00 3
R£ETC 6:30 8:30 1
15(H) | E&TC 9:30 12:30 1 =X A
RETC 9:30 15:30 2 =X A
16 (A) RTC 9:00 11:00 2
19 (K) RTC 9:00 11:00 2
21 (%) RETC 6:30 8:30 1
RETC 6:30 8:30 1
22(R) FEIRTC 8:30 10:30 1
23(A) RTC 9:00 11:00 2
26 () RTC 9:00 11:00 2
E/,\TC 6:30 8:30 1
29(R) FIRTC 8:30 10:30 1
30(AH) RTC 9:00 11:00 2
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H iz ks #RY | FREEK| w2
2(K) | RTC 9:00 11:00 2
4(£) | RETC 6:30 8:30 1
5(8) RETC 6:30 8:30 1

PEHETC 8:30 10:30 1
6(A) | RTC 9:00 11:00 2
9(K) | RTC 9:00 11:00 2
11(f£) | RETC 6:30 8:30 1

RETC 6:30 8:30 1
12(8) PEHETC 8:30 10:30 1
13(A) | RTC 9:00 11:00 2
16(K) | RTC 9:00 11:00 2
18(X) | RETC 6:30 8:30 1

RETC 6:30 8:30 1
19(8) SEHETC 8:30 10:30 1
20(R) | RTC 9:00 11:00 2
23(K) | RTC 9:00 11:00 2
25(x) | RETC 6:30 8:30 1

RETC 6:30 8:30 1
26(R) SEHETC 8:30 10:30 1
21(R) | RTC 9:00 11:00 2
30(K) | RTC 9:00 11:00 2
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= Difr Eapi RT FIAm%E | @
2(x) RETC 6:30 8:30 1
piae : :
3(8) EETC 6:30 8:30 1
FRIETC 8:30 10:30 1
4(R) RTC 9:00 11:00 2
7 (K) RTC 9:00 11:00 2
9(x) RETC 6:30 8:30 1
REETC 6:30 8:30 1
10
(R) FRIETC 8:30 10:30 1
11(A) RTC 9:00 11:00 2
14 (K) RTC 9:00 11:00 2
16 (x) RETC 6:30 8:30 1
REETC 6:30 8:30 1
17
(R) FRIETC 8:30 10:30 1
REETC 6:30 8:30 1
18(R) RTC 9:00 11:00 2
21 (K) RTC 9:00 11:00 2
23 (%) RETC 6:30 8:30 1
REETC 6:30 8:30 1
24
(B) FEIRTC 8:30 10:30 1
25(R) RTC 9:00 11:00 2
28 (K) RTC 9:00 11:00 2
30 (%) RETC 6:30 8:30 1
EETC 6:30 8:30 1
31
(B) FEIRTC 8:30 10:30 1
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H Difr Eapi RT FIAm%E | @
1(R) RTC 9:00 11:00 2
4 (RK) RTC 9:00 11:00 2
6(xL) RETC 6:30 8:30 1

piae : :
7(8) £ETC 6:30 8:30 1
FRIETC 8:30 10:30 1
8(H) RTC 9:00 11:00 2
FETC 6:30 8:30 1
1) RTC 9:00 11:00 2
13(x) | &ETC 6:30 8:30 1
RETC 6:30 8:30 1
14

(R) FRIETC 8:30 10:30 1
15(A) RTC 9:00 11:00 2
18 (RK) RTC 9:00 11:00 2
20(x) | RETC 6:30 8:30 1

FETC 6:30 8:30 1
21

32 FRIETC 8:30 10:30 1
22(R) RTC 9:00 11:00 2
25 (R) RTC 9:00 11:00 2
271(x) | RETC 6:30 8:30 1

FETC 6:30 8:30 1
28

(B) FRIETC 8:30 10:30 1

29(R) RTC 9:00 11:00 2
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H &4 Eapi ®T FIAm%E | @
1(R) RTC 9:00 11:00 2
3(x) EETC 6:30 8:30 1

pad : :
4(8) EETC 6:30 8:30 1
FRIETC 8:30 10:30 1
5(8) RTC 9:00 11:00 2
8 (K) RTC 9:00 11:00 2
10(x) | &ETC 6:30 8:30 1
pad : :
11(8) £ETC 6:30 8:30 1
FRIETC 8:30 10:30 1
12(RA) RTC 9:00 11:00 2
15(RK) RTC 9:00 11:00 2
17(x) | &ETC 6:30 8:30 1
FE&ETC 6:30 8:30 1
18
(R) FRIETC 8:30 10:30 1
FE&ETC 6:30 8:30 1
19

() RTC 9:00 11:00 2
22 () RTC 9:00 11:00 2
23(&) | RETC 6:30 8:30 1
24(X£) | BIETC 6:30 8:30 1

£ETC 6:30 8:30 1
25(8) £ETC 9:30 13:30 3
26 (A) RTC 9:00 11:00 2
29 (KR) RTC 9:00 11:00 2
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A H Silz. 4 BRdA BT | FAEH| =
1(x) | EETC 6:30 8:30 1
P . :

2(8) EETC 6:30 8:30 1
FEHETC 8:30 10:30 1
3(BA) | RTC 9:00 11:00 2
6(K) | RTC 9:00 11-:00 2
8(x) | EETC 6:30 8:30 1
P : :
0(m) EETC 6:30 8:30 1
FEHETC 8:30 10:30 1
ERTC 6:30 8:30 1
10(A) RTC 9:00 11-:00 2
13(K) | RTC 9:00 11:00 2
15(x) | EETC 6:30 8:30 1
pas : :

10 16(8) ERTC 6:30 8:30 1
FEHETC 8:30 10:30 1
17(B) | RTC 9:00 11:00 2
20(K) | RTC 9:00 11:00 2
22(x) | EETC 6:30 8:30 1
ERTC 6:30 8:30 1

23
(B) FEIETC 8:30 10:30 1
24(B) | RTC 9:00 11:00 2
27(K) | RTC 9:00 11:00 2
29(x) | EETC 6:30 8:30 1
ERTC 6:30 8:30 1

30
(B) FEIETC 8:30 10:30 1
31(B) | RTC 9:00 11:00 2
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H H Difr Eapi RT FIAm%E | @
RETC 6:30 8:30 1
3(K) RTC 9:00 11:00 2
5(x) RETC 6:30 8:30 1
piae : :

6(8) £ETC 6:30 8:30 1
FRIETC 8:30 10:30 1
1(H) RTC 9:00 11:00 2
10(R) RTC 9:00 11:00 2
12(x) | BETC 6:30 8:30 1
RETC 6:30 8:30 1

13
(R) FRIETC 8:30 10:30 1
11 14(R) RTC 9:00 11:00 2
17(R) RTC 9:00 11:00 2
19(x) | &ETC 6:30 8:30 1
FETC 6:30 8:30 1

20
32 FRIETC 8:30 10:30 1
21(RA) RTC 9:00 11:00 2
23(0k) | RETC 6:30 8:30 1
24 (K) RTC 9:00 11:00 2
26(x) | RETC 6:30 8:30 1
FETC 6:30 8:30 1

217
(B) FRIETC 8:30 10:30 1
28 (A) RTC 9:00 11:00 2
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B = M4 BRI RT | FAEE%| =z
1(K) | RTC 9:00 11:00 2
3(x) | RETC 6:30 8:30 1
4(8) EIRTC 6:30 8:30 1

FEIETC 8:30 10:30 1
5(H) | RTC 9:00 11:00 2
8(XK) | RTC 9:00 11:00 2
10(1) | RETC 6:30 8:30 1
@) EIRTC 6:30 8:30 1

FEIETC 8:30 10:30 1
12(B) | RTC 9:00 11:00 2

12| 15(K) | RTC 9:00 11:00 2

17(1) | RETC 6:30 8:30 1

EIRTC 6:30 8:30 1
18(8) FEIETC 8:30 10:30 1
19(8) | RTC 9:00 11:00 2
22(K) | RTC 9:00 11:00 2
24(x) | RETC 6:30 8:30 1

EIRTC 6:30 8:30 1
2(8) EIETC 8:30 10:30 1
26(B) | RTC 9:00 11:00 2
29(K) | RTC 9:00 11:00 2




